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SARDAR PATEL UNIVERSITY
B Com (I - Semester) Examination
Wednesday, 13" November, 2019
10.00 am - 1.00 pm
UB01CCOMS51 - Financial Accounting - I

Total Marks : 70

Notes: Figures to the right indicate marks.

Q.1

1)
2)
3)

Q.1

SATYAM, SHIVAM and SUNDERAM are partner sharing profits and losses {18)
in the ratio of 3:2:1 respectively. They agreed to dissolve the partnership
firm on 1st April 2006, when their Balance Sheet was as under.

Rs, Rs.

Capital: Land 50000
Satyam - 190000 Building 70000
Shivam - 7000 Mactinery 90000
Sunderam-__3000 200000 | Stock 30500
General Reserve 18000 | Cash . 11000
Creditors 33500 |

251500 | - 251500

Other informations:

Assets realised as follows: : _ :

Land - 40000, Building - 60000, Machinery - 80000, Stock - 23000
Creditors were paid Rs. 30000 in full settlement

A Liability of Rs. 5000 was paid in full which was not recorded in books
Dissolution expenses amounted to Rs. 3000.

Shivam and Sunderam became bankrupt and only 60 paise in a rupee
could be recovered from Shivam private Assets and 40 paise in a rupee
could be recovered from Sunderam private assets.

Prepare:
Realisation A/c
Cash Alc
Partner's Capital Alc
OR
A, B, C and D are partners sharing profit loss in the ratio of 4:3:2:1 (18)

respectively. They decided to dissolve the firm from 31-3-2006 on which
date their Balance sheet was as under:

Liabilities Rs. Assefs Rs.
Capital. Land & Building 70000 |:
A - 110000 Machinery 10000
c - 30000 140000 | Stock 40000
General Reserve 20000 | Debtors 45000
Profit & Loss Alc 5000 { -B.D.R. 2000 43000
Creditors 40000 | Cash 7000
Bills Payable 10000 | Capital:

B - 15000
D - 30000 45000
215000 215000




DAL S

Land & building - Rs. 45000, Machinery - Rs, 6000, Stock - Rs.
30000, Debtors realised - Rs. 25000, Creditors and Bilis payable were
paid 80 paise in a rupee, A Liabilities of 1500 not recorded in the books
has to be settled for 1000 reaiisation expenses amounted to Rs. 4000. .

D becomes insolvent and received Rs. 20100 from her private
properties.

Prepare necessary Accounts. .

M, N and S were carrying on business in partnership. They-were sharrhg (18)
profits and losses in the ratio of 1/2, 3/8 and 1/8 on 31.3.2006. They

decided to sell their business to 'SHIV' Ltd. when their position was as;
follows.

Rs. ' _ Rs.
Cagitai: Assets 18000
M- 20000 Investments 14000
N - 10500 Debtors * 15000
S - 9500 40000 | Stock 13000
Creditors 20000 | Cash 10000
Investment
Fluctuation fund 2000
Reserve Fund 8000 .

70000 70000

Shiv Ltd. took over the entire business including cash and the purchase
price was payable in fully paid 4000 shares of Rs. 10 each issued at Rs.
12 each. Debentures of Rs. 10000, Rs. 3000 in cash. The expenses of -
Realisation amounted to Rs. 1000

Prepare:

‘Realisation Afc

Partner's Capital Alc
Cash Alc

Shiv Ltd. Alc

Shiv Ltd. Share A/c

Shiv Ltd. Debentures Alc

OR

2 TINA, MINA and LINA are partners with profit sharing proportion of 3:2:1, {18)
They sell their business to PINAL Traders Ltd. on 30-6- 2006 Thelr
Balance sheet was as under:

Rs. Rs.
Capital: ' Fixed Assets 65000
Tina - 35000 Debtors 28000
Mina - 20000 Stock 25000
Lina - 15000 70000 | Bank balance 5000
Creditors ' 32000 | Advertisement '
‘Depreciation Fund 5000 | suspense Alc 2000 .-
Profit & Loss Alc 18000
S 125000 125000

Pinal Traders Ltd. purchased the whole business including Bank
balances purchase price was to be satisfied by 600 equity shares of Rs.
100 each a Rs. 110, 5% Debentures of Rs. 24000 and Rs. 11500 in’
cash Realisation expenses amounted to Rs. 1500. = .~ !

Prepare necessary Accounts.

2



Q.3
(A)

(B)

Q.3
(A)

(B)

Q.4

Difference between Straight Line Method an.d, Reducing Balance Method.

Krishna Ltd. was purchased one machine on 1-4—‘12. The Installation

charges for it was Rs. 3000.

On 1-10-13 they were purchase another machine for Rs. 19000 the
Installation charges was 1000. Company were charges 10%.
Depreciation by Straight Line Method on 31-3-15. First machme

was soldiat 20% profit on book value.

From above information write Journal for three years prepare

Machine A/c and Depremahon Alc.
OR

Inventory Valuatiéﬁ (!nd-AS) 2.

The receipts and issues of an item of material in a factory during August

2013 are as above,

2013 '
August-1 Opening Balance 150 Kg.
August-3 Issued 50 Kg

August-8  Purchases 200 Kg at
August-16  Jssued 150 Kg

August-18  Returns form Job (out of material issued on

3rd) 10 Kg
August-21  Purchases 300 Kgs at
August-27  Issued 100 Kg

Rs.
20

21

19

The report of the Stock Verifier revealed that there was a shortage of 5

Kgs on 31 August.

Prepare Stock register under:
FIFO Method

LIFO Method

" Give Specnman of

Trading Account

Profit & Loss Alc
Balance Sheet

with imagenary Figures,’

(05)
(12)

(05)
(12)

(17y

o {7

1700

OR

The following is the Trial Balance of Nlmesh Patel as on 31-3-05.

Prepare his Final Alc. . ' S
Particulars Debit Credit

(Rs.) (Rs.)

Drawings- Capital 3000| 45000 |-
Purchases-Sales 82000 | 120000 =
Goods Returns a ‘ 2100 |- .
Provident Fund Investment and Prowdent Fund : 12000 | 13000 | -
Contribution to Provident Fund 1100
Stock (1-4-2004) 18000 | -




1)

3)
4)
5)

Furniture

Building :
Debtors - Creditors
Discount

Stationary

General expenses
Salary

Scooter

Carriage Inward

Goods withdrawn

Bad debt and Bad debt reserve
15% Privam's Patel Loan

5000
40000
30360 41000
500 300
200 -
11200 -
18000 -
10000 -
300 -
- 500
240 2500
- 10000
234000 | 234000

Adjustments:

Value of Closing Stock is Rs. 35000 and its market value is Rs. 30000

Calculate Interest on Capital at 5%.
Depreciate building 2.5% and Furniture 5%.
Stock of Stationary on Rs. 20.

Of the Debtors 360 is to be written off as bad debts and provasnon at 5%

on debtors is to be made for doubtful debts.
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